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1  rf/lsNnf l;kmfl/; laqmL k|of]hgsf nfuL –

   s÷ nf]sdfu{ ;“u hf]l8Psf] hUuf l;kmfl/; bz w'/ ;Dd 800
bz w'/ dfly k|lt s¶f yk 1000

   v÷ lelq sfnf] kq] hUuf bz w'/ ;Dd 600
bz w'/ dfly k|lt s¶f yk ?= 200

   u÷ u|fe]n jf sRrL af6f] hf]l8Psf] hUufdf Ps s¶f ;Dd 500
Ps s¶f dfly k|lt s¶f yk ?= 150

   3÷ af6f] gv'n]sf v]tL of]Uo hUuf b'O{ s¶f ;Dd 300
b'O{ s¶f dfly k|lt s¶f yk ?= 50

2  rf/lsNnf l;kmfl/; cGo k|of]hgsf nfuL –

 s_ C0f k|of]hg sf nfuL rf/lsNnf l;kmfl/; 

300
500
500
1000

v_ c+zj08fsf nfuL rf/lsNnf l;kmfl/; 

300

500
500
1000

!= )—%—) ;Ddsf] rf/ lsNnf k|dfl0ft

;f] eGbf dfly rf/ lsNnf k|dfl0ft ?= 

 @= /fhdfu{sf] lsgf/fdf kg]{ )—%—) ;Ddsf]

;f] eGbf dfyL rf/lsNnf b:t'/ ?= 

!= )—%—) ;Ddsf] rf/ lsNnf k|dfl0ft

;f] eGbf dfly rf/ lsNnf k|dfl0ft ?= 

 @= /fhdfu{sf] lsgf/fdf kg]{ )—%—) ;Ddsf]

;f] eGbf dfyL rf/lsNnf b:t'/ ?= 
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